o)

“la €
®)

Mr Me My

¥ ¥ !

= == ==

4-MxL

MpodunbHblie penbcbl HSAC cepuun GHR

Hr

oD

“« >

G

A

v

e 1

VOd

v

MR | MP | MY Kapetku | Penbc
H| H| N | W B |Bl| C L1 L K1 K2 | G | 4MxL | T H2 | H3 |(WR|/HR| D | h | d | P E (mm) | C(kN) | Co(kN) | kN- | kN- | kN- F:(r Kr/m
m m m
GHHI5CA | 28 | 43 | 95 | 34 | 26 | 4 26 39.4 61.4 10 485 | 5.3 | M4x5 6 795 | 77 |15 | 15 | 75|53 |45 60 | 20 M4x16 14.7 23.47 012 | 010 | 0.10 0.18 1.45
GHHZ20CA 36 50.5 17.5 12.25 271 36.68 | 0.27 | 0.20 | 0.20 0.30
30 | 46 | 12 4 1 32 | 6 6 12 Mb5x6 8 6 6 20 [ 175195 |85 | 6 | 60 | 20 M5x16 2.2
GHHZ0HA 50 65.2 92.2 12.6 32.7 4796 | 035 | 035 | 0.35 0.39
GHH25CA 35 58 34 15.7 34.9 5282 | 042 | 0.33 | 0.33 0.51
40 | 55| 125 | 48 | 35 | 65 6 12 | M6x8 8 10 9 | 23|22 | M| 9 | 7 |60 20 | M6x20 3.21
GHH25HA 50 | 786 | 1046 | 185 42.2 69.07 | 0.56 | 0.57 | 0.57 0.69
GHH30CA 40 70 97.4 | 20.25 48.5 71.87 | 0.66 | 0.53 | 0.53 0.88
45 | 6 16 | 60 | 40 | 10 6 12 | M8x10 | 85 | 95 | 138 | 28 | 26 | 14 | 12 | 9 | 80 | 20 | M8x25 4.47
GHH30HA 60 93 1204 | 2175 58.6 93.99 | 0.88 | 0.92 | 0.92 1.16
GHH35CA 50 80 124 20.6 64.6 93.88 116 | 0.81 | 0.81 1.45
55 | 75| 18 70 | 50 | 10 7 12 | M8x12 | 10.2 16 196 | 34 | 29 | 14 | 12 9 | 80 | 20 M8x25 6.30
GHH35HA 12 105.8 | 138.2 22.5 77.9 122,77 | 154 | 140 | 140 1.92
GHH45CA 60 97 139.4 23 103.8 146.71 | 1.98 | 155 | 1.55 2.73
70 | 95| 205 | 8 | 60 | 13 10 129 | MI0x17 | 16 | 185 | 30.5 | 45 | 38 | 20 | 17 | 14 | 105 | 22.5 | M12x35 10.41
GHH45HA 80 | 1288 | 172 | 289 125.3 191.85 | 2.63 | 2.68 | 2.68 3.61
GHH55CA 75 177 | 166.7 | 27.35 153.2 2123 | 369 | 264 | 2.64 417
80 | 13 | 235 | 100 | 75 [ 125 M 1129 | MI2x18 | 175 | 22 29 | 53 | 44 | 23|20 | 16 | 120 | 30 | M14x45 15.08
GHH55HA 95 155.8 | 2048 | 36.4 184.9 276.23 | 488 | 457 | 457 5.49
GHHB5CA 70 | 1442 | 200.2 | 431 213.2 | 28748 | 6.65 | 4.27 | 4.27 7.00
90 | 15 | 315 | 126 | 76 | 25 14 1129 | M16x20 | 25 15 5 | 63 | 53| 26 | 22| 18 | 150 | 35 | MI16x50 2118
GHHE5HA 120 | 2036 | 259.6 | 478 2778 | 42017 | 9.38 | 7.38 | 7.38 9.82




